Valuation Problem Solution
1. a. Beta for the Health Division = 1.15. Cost of Equity = 7% + 1.15 * 5.5% = 13.33%. Cost of Capital = 13.33% * 0.80 + (7.5% * 0.6) * 0.2 = 11.56%.
b. The table below contains the FCF calculations.

	
	
	
	
	Year
	
	

	
	1993
	1994
	1995
	1996
	1997
	1998

	Depreciation
	$350 
	$364 
	$379 
	$394 
	$409 
	$426 

	EBIT
	$560 
	$594 
	$629 
	$667 
	$707 
	$749 

	EBIT(1-T)
	$336 
	$356 
	$378 
	$400 
	$424 
	$450 

	Cap Exp
	$420 
	$437 
	$454 
	$472 
	$491 
	$511 

	FCF
	$266 
	$283 
	$303 
	$321 
	$342 
	$364 

	Terminal Value
	
	
	
	
	
	$5,014 


We would ignore 1993 since that is cash flow that any buyer would not get.  The terminal value assuming a 4% growth rate is 

Value of the Division = 283/1.1156 + 303/(1.11562)2 + 321/(1.11563)3 + 342/(1.11564)4 + (364 + 5014)5/1.11565 = $4,062 million

c. There might be potential for synergy, with an acquirer with related businesses. The health division at Kodak might also be mismanaged, creating the potential for additional value from better management.
